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ԱՆԳԼԵՐԵՆ ԼԵԶՎԻ ՀԱՆՐԱՊԵՏԱԿԱՆ ՕԼԻՄՊԻԱԴԱ 2020թ. 

(Տևողությունը 150 րոպե) 

IX-X ԴԱՍԱՐԱՆՆԵՐ 

 

1. Կարդալ տեքստը և պատասխանել հարցերին` ընտրելով ճիշտ տարբերակը: 

 Read the text and answer the questions, choosing the right answer. (0,3x10=3) 

Line number 

 

1. Which title best summarizes the main idea of the passage? 

A. Wild Animals in Art 

B. Hidden Prehistoric Paintings 

C. Exploring Caves Respectfully 

D. Determining the Age of French Caves 

2. In line 3, the words pays attention to are closest in meaning to  

A. discovers 

B. pays 

C. notices 

D. buys 

3. Based on the passage, what is probably true about the south of France? 

A. It is home to rare animals. 

B. It has a large number of caves. 

C. It is known for horse-racing events. 

D. It has attracted many famous artists. 

4. According to the passage, which animals appear most often on the cave walls? 

A. birds 

B. bison 

C. horses 

D. wild cats 

1.    When another old cave is discovered in the south of France, it is not usually news.  Rather, 

2.  it is an ordinary event. Such discoveries are so frequent these days that hardly anybody  

3.  pays attention to them. However, when the Lascaux cave complex was discovered in 1940,   

4.  the world was amazed. Painted directly on its walls were hundreds of scenes showing how  

5.  people lived thousands of years ago. The scenes show people hunting animals, such as bison 

6.  or wildcats. Other images depict birds and, most noticeably, horses, which appear in  more 

7.  than 300 wall images, by far outnumbering all other animals. Early artists drawing these  

8.  animals accomplished a monumental and difficult task. They did not limit  themselves to the 

9.  easily accessible walls but carried their painting materials to spaces that  required climbing 

10.  steep walls or crawling into narrow passages in the Lascaux complex.  

11.      Unfortunately, the paintings have been exposed to the destructive action of water and  

12.  temperature changes, which easily wear the images away. Because the Lascaux caves have  

13.  many entrances, air movement has also damaged the images inside. Although they are not  

14.  out in the open air, where natural light would have destroyed them long ago, many of the  

15.  images have been deteriorated and are barely recognizable. To prevent further damage, the  

16.  site was closed to tourists in 1963,23 years after it was discovered. 
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5. In line 6, the word depict is closest in meaning to _______. 

A. show 

B. hunt 

C. count 

D. hide 

6. Why was painting inside the Lascaux complex a difficult task? 

A. It was completely dark inside. 

B. The caves were full of wild animals. 

C. Painting materials were hard to find. 

D. Many painting spaces were difficult to reach. 

7. In line 8, the word they refers to 

A. walls 

B. artists 

C. animals 

D. materials 

8. According to the passage, all of the following have caused damage to the paintings 

EXCEPT  

A. temperature changes 

B. air movement 

C. water 

D. fire 

9. What does the passage say happened at the Lascaux caves in 1963? 

A. Visitors were prohibited from entering. 

B. A new lighting system was installed. 

C. Another part was discovered. 

D. A new entrance was created. 

10. The word deteriorated in line 15 can best be replaced by 

A. used 

B. damaged  

C. included 

D. improved 

TASK 2.  Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 

Choose the appropriate option. (0,3x5=1,5) 

1. What do you do if you reread a book? 

A. don’t read it 

B. read it again 

C. read it for the first time 

2. The word pre-war  means? 

A.before the war 

B. during the war 

C. after the war 

      3. What does the word tireless  mean? 

A.always feeling tired 

B.never feeling tired 

C.never feeling energetic 
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4. Which suffix would you add to the word “air” to show that a room is very stuffy. 

A. ed 

B. ful  

C. less 

5. What suffix would you add to the word “blame” to show you have done nothing wrong? 

A. ness 

B. less 

C. ed 

 

TASK 3. Ընտրել միայն մեկ բառ, որը կարող է գործածվել բոլոր երեք 

նախադասություններում: Մեկ բառն ավելորդ է: 

Choose one word only which can be used in all three sentences. There is one odd word. (0,8x5=4) 

 

TECHNOLOGY WRITE POWER INTEREST READ STEADY 

 

1.  

a) Mike is as ____ as rock- you can always rely on him. 
b) It's  very hard to find a ___ job nowadays. 
c) You need a ____ hand to be a surgeon. 

 

2.  

a) There are many places of ____ near my town.  

b) She used to be active in politics but has lost____ now.  

c) Those who offended the girls in some ways paid back with ____.  

 

3.  

a) Take care to ____ through the documents before signing it.  

b) “Would you like some coffee?” “You ____my mind”. 

c) I always _____ every one of her books from cover to cover.   

 

4.  

a) Politicians can abuse the position of _____.  

b) The _____ supply to our house was cut because of roadwork.  

c) I’m afraid I do not have the ____ to authorize this change.  

 

5.  

a) Few people could have predicted the huge impact of information____. 

b) No matter how advanced ______ becomes, machine will never be able to think like 

humans.  

c) It’s  a waste of time for humans to do tasks that modern _____can do. 
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TASK 4. Ընտրել այն պատասխանը, որն առավելագույնս պահպանում է տրված 

նախադասության իմաստը` ընդգծված բառի փոխարեն օգտագործվելիս: 

Select the answer choice that best maintains the meaning of the original sentence if you use it in 

place of the word that is underlined. (0,3x10=3) 

 

1. It is difficult to get young people to plan for their old age which seems very distant. 

A. possible   B. far away  C. observable  D. fearful 

2. It is not possible for people to recall everything that they have thought, felt or done. 

A. remember   B. appreciate  C. forget  D. discuss 

3. When preparing a diet, a person should be aware that vitamin D acts to increase the amount of 

calcium absorbed by the body. 

A. schedule of flights  B. nutritional plan C. study of brevity D. medical card 

4. He lost his patience and hit me. 

A. impatience   B. temper  C. idea   D. time 

5. A relative of mine, my cousin John, has a house near here. 

A. connection   B. relation  C. acquaintance D. parent 

6. Miniatures become very popular during the 16th and 17th centuries. 

A. small plants   B. short lists  C. small pictures D. short vowels 

7. A lie detector detects minute changes in the temperature of a person’s skin. 

A. dormant   B. significant  C.huge   D.tiny 

8. He was killed in a car accident. 

A. incident   B.crash  C.meet  D. hits 

9. He lives a very busy life. 

A. leads   B.cast   C.lifts   D.ruins 

10. This test comprises a number of multiple-choice questions. 

A. composes of   B. composes in C. consists off  D. consists of 

 

TASK 5. Տրված հինգ նախադասություններից չորսը միասին կարող են կազմել 

ամբողջականև կապակցված պարբերություն: Գտնել ավելորդ նախադասությունը: 

From the given five sentences four of them can be put together to form a meaningful and coherent 

paragraph. Identify the odd one out.(2.5x1=2.5) 

 

1. There are so many opportunities to do good for the planet, and many of them are right under 

your nose. 

2. A great way to do this is to increase your dependence on fuel sources that have a negative 

effect on the environment. 

3. Think your actions don’t make a difference? Think again!... 

4. Each morning is the beginning of a new day and another chance to make the world a better 

place. 

5. Taking small, mindful actions for positive improvement can have a great impact on your 

community and inspire others to do the same. 
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TASK 6. Ընտրել նախադասության բովանդակությանը համապատասխանող տարբերակը: 

Choose the appropiriate option. (0,3x10=3) 

 

1. While attempting to reach his home before the storm, ____________. 

a) the bicycle John broke down  

b) so it happened that John’s bike broke down 

c) however, the storm caught John 

d) John had a bicycle accident 

2. Automobile production in the US   _____________. 

a) have taken slumps and rises in recent years     

b) has been rather erratic recently 

c) are going up and down all the time     

d) has been erratically lately 

3. _________ did Arthur realize that there was danger. 

a) When entering the store 

b) When he entered the store 

c) After he had entered the store 

d) Only after entering the store 

4. George belongs to the  _________________ . 

a) class of the upper middle 

b) upper middle class 

c) class from the center up 

d) class of high medium 

5. He has received several scholarships _______________ . 

a) not only because of his artistic but his academic ability 

b) for both his academic ability as well as his artistic 

c) because of his academic and artistic ability  

d) because his ability in the art and the academy 

6. The dog was ______by a bus and killed. 

a) run over  b) tripled up  c) knocked off d) fallen down 

7. I’m afraid this painting is not by Picasso. It’s only a copy and so it’s ________ . 

a) priceless  b) invaluable  c) worthy  d) worthless 

8. How many of you are _______ the Proficiency examination? 

a) putting down in b) going in for c) entering at  d) writing in  

9. He doesn’t feel like playing tennis because he’s ______. 

a) out of condition b) off condition   c) off fitness  d) out of fitness 

10. He ____ the letter carefully before putting it in the envelope.  

a) folded   b) bent  c) broke  d) curved 
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TASK 7. Ընտրել համատեքստին համապատասխանող խոսքիմասային ձևը: 

Fill in the blanks with the word form that best fits each space. (0,3x10=3) 

 

Cereals are various species of the grass family, (1) _______ for their seed, which is used as food. 

The name is (2) _______ from Ceres, the Roman goddess of grains and agriculture. Although the 

cereals do not belong to any (3) _______ tribe of the grasses, the use of particular species as bread 

plants seems to have been determined chiefly by the (4) _______ size of the seed or by the (5) 

_______  of obtaining it in (6) _______  quantity and of freeing it from its (7) _______ covering. 

The most (8) ________ cultivated grains are wheat, barley, rye, oats, rice, corn or maize. These 

have all been cultivated since ancient times. Maize is the only grain that (9) ________ in America; 

the others were (10) _______  in Europe, Asia and Africa. 

 

1.  A. cultivation B. cultivate C. cultivated  D. cultivator 

2.  A. derived B. derivative C. derivation D. deriving 

3.  A. particularly B. particularity C. particularize D. particular 

4.  A. superiority B. superior C. superiorly D. superiors 

5.  A. easy B. easily C. ease D. unease 

6.  A. suffice B. sufficient C. sufficiency D. sufficiently 

7.  A. edible B. edibly C. eat D. edibility 

8.  A. extensively B. extensive C. extent D. extensible 

9.  A. origin B. original C. origination D. originated 

10.  A. develop B. development C. developed D. developer 

 


